Seckteon. K.G6

!.) IX)= §-¢Xx 2. Hix)= =« —“’—Qa -\\—ué<]:o

4.) HX)= 3x*+4x Yo 36 oxe < o ) = ¢

7) Be)= 340D P 2eyet s 272
\[‘-“Gé): — 4

1) b= 2 D glgs ELS ?S‘l') 2

_ _ 2(/-%(;1 _ -2 X— |

: \WTE Goi9s T Gt C )

2> (x)~ H(X—%)

3’.) J = xT+ yx3+8x* S y': <{><3+/:L>(‘1+ /6 X —‘P—v
i

Yooz 1axX Pt ayx + (6

6.) &(x)= x"=ax’ ——»Jicx) qxIo x?* 2

@}* 12Xx2— 12X 2o 2'(x) = RYX — 12

D - -3 _ -
1%.) %q- IxTR L P ex T T IxTT
Pz Tx L ) TEexTV L m1xTS
- — | 1 -
R0) +(x)= X N $x)z —x72 L#’}@):;x 7

L \ch ) _ __GX-—A/
07\/) 3(‘,‘?’): 5’%"{4—(0‘624—3 2—» j%&):Xo{—:’; QA0+ L
3“(_—&) - o+ + 20 4 - 3“Cg) = @o(q)+ 20 = RO




4
[24.) F)= +=t+3 2, L)z £ (at+3) (a)
T (9\-64—3’)”/2 J ~P“(f):‘-5@{—+3j_}%,(z)
s = (atey) P B V) = 2 (ate3) A G)
L )= 3(at43)TVR
$N(E) = 3(4)T* =

-

1 [ _ 3
BN TR L

3’7[) $(x)= 37<3—'7X+I —\—D—> ¢‘<><): ?2(1~ T = CIQ('{)G(‘”/: o
- @ )

2'x) = 18x= 0 —

35.) F(x) = Q<+3]Q<~q](x+5} _@», (rp,@)
P = () (=)o 5)+ (o 3) () (k- §) 4 +3) (- 4) ()
= XA4X— Q0+ XTEBX+ IS+ XP— X~
= 3XE+PX—-17 20 — -
oo TBE Ved-4B)C12) | - § tze5

i A(3) A

x= ~FEaver : [ e
G
-Y—“G(>: QX‘-PX =0 — Xz "'3/6 .__,'

38) $(x)= X Af4=x2 | ,
| g Lo
Fx)= x- 2 (4-x*) - Gax) + () (4-x2)=

—_—

—_—

LooxE L (ex¥)E oxta (4-x3)
- ’ ) ‘
(a-x*)™ ‘ (a-x*)=
- d-gX % o - q_—‘lez'zc’z.’x&/: o —o
7 (q_ X&)I/L

——

(K:QJ X:‘@ ;



4&) (4~ x") (~ax)- (4= ,zx) 5 (4- X{) ’” (-2x)
(4 - x%)

|
-ax(4-x3) *4 x(4-2x?)
\ (4-x2)"2  ~4x([-x3) + x (4-2x3)

-~

) (a-x9)"> (4- x*)

= ['2(‘* x3)+(2-x3)] . ax[xte]

——

- x%) 2 (4-x3) ) 7
2X [Xl’(aj o - :o _,f(;/ xz_ﬁj
| X ! X)) - X (2x) L x2
. - — = X - _ _
170 #0) X2+ ) (x*+1)2 (R+1)* 0
. > |- X2 =0 — m
'\L“(K) _ (X&""l)zC’&X}~ O’ XR')' 2<_)<2+l)‘2)(
(x2+ 1)
. ax (3E0) [Ae)+al-xY] | -ax [3-x2] |,
(X'z+l_>‘%3 (X +])




FACT : dat SE) be hospht (fook) of ohpaet

E@):—/é%z+ v;(:-;—soi .
MVVOQ%W ‘ MSOQ

U)a)Vez (44 $5 fare. an®  S,z0ft —

o

| sl)= — (et + 144t L, ‘ ok A E
b) weleey i SE)= T3 4Y and —
e Sernodien © SYUDT ~32 s

W o : 5‘&)10—»
-t +1dd = 6 — @:4,5’@ seo
ond s(4.5) =-1e(4.5)*+ 144(4.5) L

| = (324 4+. )

d.) Ik . sWz=o —> 0= — [t 149+ —

o=z et (-t+1) = +t:o (=9 e > )
,S'@):GI—‘W ’F*/M) PN\ meﬂcfe»)? . 49 R e,

42) a) Vez o 4K /asa. emd 5, 1250 4% —
| 5&): —(@f’*+o-f+—/25‘o = (R50 — 'IQ{-I_D\

b) meloeiiy © SE) = - 32t
C.) MM : 5(’6’) =6 — (9\5()""‘(@‘6‘2 z o
— £r s BT - ErpET ey




- 4.) 5'(3.84) = ~32(5.84) = CRFL. 8 4t [wac D

ot

» ‘()-— Aot ’(’*//J—Q_a ol
‘f3-)/u-o/°~g—c;ﬁ:;2 S (#) = .

0" C{-Ho)(‘?o)- ={e) {'C() _ Q60 /P).ALCZ—
uuua/QMo)E;._“—-y\ S (‘é’):

f+10)* (t+10)%
AL,
o) (o 20 30 Yo S0 60
+ -
45 o0 675 72 75 17.14 2l .
| . O
S ' / L
ARG
T aas 1 o056 03¢ 025 00§ ‘al 7
-S“ . ' )

j/ MWM;/QA;»)? (O sedotenatoon C)




52)a)Ve= 48 Pt fanc. omd S.= 04 f. — '
SE) = —letr+ 48+ 64 g | qe- Szo

Wu\—z&%«»—é |
i

b-) M : 5{@’2?_3&\‘: +4§
occelen ot - S“éé-) = — 32

Sco

C.) At gronnl © SH) =0 — |
(e HFE+E] = 16 (N - 3€-4)
= \te@c-q)béuj =0 — t=-{ (/UO) o=

O[) S{GG)’:O — —3Rt+Y4Fz0 —

~ 4% _ /3
R C >
e) s(Z)= e £)2+48(%)+é4 : |




